Grade 4 Subject: Mathematics Olympiad (Week - 1)

. The picture below shows a number of five different sports tools. The nhumber under each
tool is the total number of the sports tools sold last year. Which tool sold a number that

has a 7 in the ten thousand
. Ed
¥ B
e J

58,739 42,167 21,973 75,438 17,825

a) Badminton Racket
b) Table Tennis Racket
c) Hockey Stick

d) Bat

Herry had five numbers. He used each number only once to make a smallest number. If
Herry put the 7 in the hundred’s place, what would be the smallest number he could
make?

a) 29764
b) 27469
c) 24679

d) 24769
. Which of the following statement can be true? 5408 | A

a) B is largest of all other number 5795 B

b) D is smallest of all other number 5268 C

c) Cis smallest of all other number

d) As largest of all other number 5983 D
L f ;

Then the value of

a) 82 b) 92 c) 72 d) 62
. The numbers that can be divided by both 5 and 7 is .

a) 35 b) 36 c) 63 d) 55

. Which of the following number is a common factor of 28 and 35?
a) 7 b) 9 c) 4 d) 6

. Which of the following set of fractions is in descending order?
a) 9/7,5/7,417,6/7, 37 c) 91/8, 40/8, 60/8, 102/8
b) 11/19, 7/19, 6/19, 5/19, 2/19 d) 3/6,5/6, 7/6, 9/6, 11/6
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10.

11.

12.

13.

Which of the following numbers shows fraction where numerator is equal to the
denominator?

a) 2/4 c) 2/6

b) 1/3 d) None of the above

The model is shaded to show that

a) 1/6 > 1/3

b) 3/6>2/5

c) 2/4>2/5
d) 2/6<2/3

= 84 kg

then find the value of & ?

a) 15kg b) 12 kg c) 10kg

Weight of an apple is g. 62t te

a) 20
b) 22
c) 15
d) 12

If 5009 of oranges cost % 40, what is the cost of 1 kg oranges?
a) ¥60 b) %80 c) ¥40 d 25

5 years 3 months =

a) 63 months b) 75 months ¢) 54 months d) 46 months

Line P and five points are shown on the grid.
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14. Which two points appears to lie on the same line that is similar to line P?
a) Mand O b) MandN ¢) RandQ d QandM

15. If the points M, N, O, R, and Q are joined together how many triangles can be formed?
a) 10 b) 8 c) 4 d) 6

16. The perimeter of square A and rectangle B are equal. Find the length of each side of
square A.

a) 4cm
b) 5cm
c) 8cm
d) 10cm

B 2cm

8cm

17. 1 have 6 faces. All of which are rectangles. | am .
a) Cuboid b) Sphere c) Cube d) Cylinder

The bar graph shows the types of sports people like. (18 to 20)
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18. more people like cycling than jogging.
a) 15 b) 23 c) 20 d) 12

19. 10 less people prefer volleyball than .
a) Basketball b) Jogging c) Kabaddi d) Cycling

20. The total number of people who like basketball and is 121.
a) Basketball b) Jogging c) Cycling d) Kabaddi




